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Bowling Scores

Nellie Lola
|79 |83
232 214
210 24 1
| 79 |G|

1. Nellie and Lola were on the same
bowling team. How many points did
they score altogether?

points

@ 1530
1600
© 1629
© 1609

2. Theo and Chad also bowled
four games. Theo had a total
of 796 points, and Chad
had a total of 834 points.
Compare the results of Nellie

@ They both scored | 630.
Theo & Chad scored | more point.
© Nellie & Lola scored 9 more points.
@ They both scored fewer than |600

and Lola to Theo and Chad. points.

A perfect game score is 300. Find the 3. Nellie 4. Lola

highest score by both Nellie and Lola. ® 68 @ 61

How many more points did they each Q0 59

need to score to have a perfect game? © 121 © 51
@ 129 @ 49

5. If Nellie had scored her total score

with the same number of points in ® 125

each game, how many points would 150

that be? © 175

© 200
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